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A HAEH
M =0 Ot HHIA HZ2(HEXH)
Cel: EEH0 HEN 2 (S5 &)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OBg =z 1,400
-A83l= 800,000& ~ 1CH 800
-EX3l2 600,000 = 1CH 600
202 04| 4,000 4,000 0
01 2L Y| 4,000 4,000 0]
OoOgHgx =X 4,000
206 M EHl 3,100 3,100 0
01 X Z H| 3,100 3,100 0
O=2E2L3 22ZX4 M= 1,100
oY g S| 2,000
307 212t0| & 1,800 2,112 A 312
05 QIZ2t &2 1,800 2,112 AN312
ORoHHIAIAE S| 150,000& * 12& 1,800
22A4 L HH S22 (HEH) 79,625 67,424 12,201
101 Q124 H] 3,125 2,924 201
04 JI2ZtHIZ2 2 NEE S 3,125 2,924 201
OEN ASZE 2 UM 2=01F 22 A%
o 44,6409 * 502 2,232
OZE - 20lsFa 2e Ay
44 6402 ~ 20 893
201 B9 76,500 64,500 12,000
02 =224 H| 76,500 64,500 12,000
Ox&R Xyl 15,500
-AE3l= 4,500,000& = 1CH 4,500
-E43l= 11,000,000 = 1CH 11,000
OAERXHI 1,000
ON2S L 8BS ®IIR3
5,000,000& = 12& 60,000
ZOIHOI S A XYL (HEH) 330,000 330,000 0
DEUE NHIHL(HEDH) 330,000 330,000 0
AR FO=QAAIL(HEDH) 330,000 330,000 0
401 AlEHIZL £ 0HY| 330,000 330,000 0
01 Al& b 330,000 330,000 0
Obfah =24 Xl (200m) 15,000
OaldIZ2 =2 2 Hi4=2 & 4| (100m) 25,000
Ogd =2 2 42 & 4| (200m) 20,000
O=el 0rSt2 A M D (200m) 15,000
O2El =2 ZZH(100m) 16,000
O&lE= 21 AX(5m) 15,000
O2X == Z(180m) 28,000
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